R#ETFR N AREX E#E o1
1. z%2RKDE (SH208, AFES08, BFE1220%, CHF245)

(1) 2x5=40 (2) %xx:600
(3) z+9=15 (4) %:15
(5) r+2=28 (6) r—3=9
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2. zEKRDK (SH208, A0, BRE12208, CH#25 )

(1) ax6=>54 (2) %xx:600
(3) x2+3=25 (4) %:24
(5) +7=10 6) z—4=9
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REtTrRA N ARERX B 01 FBEHES
1. zZkok (SH208, AFE50%, Bik13 208, CHk24 )

(1) 2x5=40 (2) %xx:600
rx5 = 40 %xx = 600
3:><5><l 40><l i ><l 2 3 3 . 3
5 = 5 5 L xrx 2 = 600x = < x =
3 2 2 2
x = 8 B z = 900 B R
pAsUi- C I VRN SO AT B
(3) z+9=15 (4) %:15
_ Z -
=9 = 15 1 15
z+9x9 = 15x9 —ljd x 9 %x4: 15 x 4 —50 x 4
— g <
T = 135 = A T — 60 S
(5) r+2=8 (6) r—3=9
T+2 = 8 x—3 = 9
x4+2-2 = 8-2 i — 2 r—3+3 = 9+3 i + 3
T = 6 EZ T = 12 EZ
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2. zEKRDK (SH208, A0, BRE12208, CH#25 )

(1) ax6=>54 (2) %xx:600
rx6 = 54 %xx — 600
gc><6><l = 54><l e‘mﬁiﬂxl 4 5 5 v 5
6 6 6 Zxrx <> = 600x = —jid x =
5 4 4 4
x = 9 EA z = 750 B R
PASUL DR YOEEE T B
(3) x+3=25 (4) %:24
- = 9 z = 24
=3 5 3
r+3x3 = 25x3 <[l x3 %x3 = 24x3 <l x3
x = 75 “BZ z — 79 S
(5) x4+7=10 6) x—4=9
T+ 7 = 10 z—4 = 9
T+7-7 10-7 <mjid -7 r—4+4 = 944 <l + 4
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